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­°��¨µ�£µ� (50%) 

17 ­·�®µ�¤ 2547   9:00-12:00 
 

  
 
 
 
 
 
 
 
1. ��®µ�¨Á�¨¥�́�Â�o��°�­¤�µ¦Á°�¡´��r�      (5 �³Â���) 

2 2( ) 0x dy y xy dx    
2. ��Â­��ªnµ­¤�µ¦Á�·�°�»¡�́�r°́���́®�¹É��n°Å��¸ÊÁ�}�­¤�µ¦Â��Â¤n��¦� (an exact equation) Â¨³
®µ�¨Á�¨¥�°�­¤�µ¦                  (10 �³Â���) 

 sin cos ( cos sin ) 0y y y x dx x x y x y dy        
3. ��®µ�¨Á�¨¥�°��{�®µ�nµ�´Ê��o�                 (10 �³Â���) 

3'' 6 ' 9 18 , (0) 1, '(0) 2xy y y e y y      
4. ��®µ�¨Á�¨¥�´ÉªÅ��°�­¤�µ¦Á�·�°�»¡´��r°́���́­°�Å¤nÁ°�¡´��r              (10 �³Â���) 
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5. ��®µ�µ¦Â�¨�¨µ�¨µ����́��(inverse Laplace transform) �°�   (5 �³Â���) 
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6. ��Ä�oª·�¸�µ¦Â�¨�¨µ�¨µ��(Laplace transform) ®µ�¨Á�¨¥�°��{�®µ�nµ�´Ê��o������������(10 �³Â���) 
'' , (0) 1, '(0) 1y y x y y      
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